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'l-la1  = w"uquiond?a  t (X x iu~uiaw~?a) (5.1)

=  (1 t  X) x  l+iutpionli?a
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100 x = 100 x (l/10) = 10%

M&l x = 1lRl - w"u~"BiaMPiaa (5.3)

Iw~udawdau
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P = B,W - 8,% + tJ,s + m (5.4)
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4lRl  = (1 t X) x l&upiewdaa

p^ = m*+  CA (5.5)
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hpwioui9a filKAl?nrihriil  (%) TIRI

d-u3r?a7 ;t 1 100 20 120.00

rl3-3t-aa7 ;t 2 105 21 127.05

P = m t c ( 5 . 6 )
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LvJ~lMwk4 c - c  =-I-O (N tS ) - (N&Q-I-i

co No + so

= (N - N  )-(St-S,1-I-O-

N, + so

= L!L-N,L ( N ) + cSc2,L  -o--o- + (S )

No Nc.+So s, N,+So

n-- = N  - N-1-o uaa  s- = sLs0

No s.2

lJ,=  = N-o-

No+sc

Y Y,
61  JMW B,* + 8,- = N-o- + s =I-o-

NC.+S, N*+So
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C = v,n  + 8,s ( 5 . 7 )

n = w - g ( 5 . 8 )

P = B,W- p,g  + 6,s + m (5.91

( 5 . 1 0 )
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P = I( /tu>  t pe (5.11)

dpe = 8 (P-Pe) (5.12)

p = w-r
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r = h(u) (5.14)'
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1 1
w =g (5.16)
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w= = (WI)* (5.17)

p= = i - gxW (5.18)

uaa p2 = 2 - g=W (5.19)
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p1 = 0 (5.20)
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(5.21)

P = Pa (5.22)

p = w,pl  t w,p2  = w, + W,PZ

bbI:: P-, = W,P?, + w,p=-,  = w, + W,P2-,

P =_E-lp  -ew, + " P2*-.--E- w L-L!

P-X W* + w,p=-,
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